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(Revision of the Snyder's Coefficients of Synthetic

Unit Hydrograph in the South Han River Basin)
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21, Yo9Y 8§99 cp, TP,L, Lc, A
e ¥ 13 14 15 16 17 18 19 20 21 22 23 24 25 26
cp 0.54 0.59 0.58 0.60 0.52 0.53 0.58 0.55 0.56 0.46 0.53 0.49 0.53 0.52
TP 10.02 13.49 12.79 14.88 9.0% 9.97 12.70 11.09 11.63 5,91 9.76 7.53 9.58 8.69
L{(km) 49.8 102.3 76.8 92.3 45,8 59.3 70.8 74.3 66.8 25,8 53.3 37.8 56.3 43.8
Lc(Km) 23.8 41.8 20.8 51.3 25.3 25.5 22.3 21.8 27.8 8.0 20.5 13.3 18.3 17.3
$ﬁ75Nv 674 1107 1478 994 502 828 1117 676 951 234 348 450 1044 774
B2, YT Y 4 1Qpr Qp/Pr Ly Le
5wy .

X% ont 13 14 15 16 17 18 19 20 21 22 23 24 25 26
J.Ar1v 9.31 12.62 11.95 13.95 8.42 9.26 11.87 10.33 10.85 5.39 9.06 6.94 8.89 8.04
&UAEM\U\OBV 108.6 143.8 199.4 118.8 86.1 131.7 151.7 100.0 136.4 55.5 56.5 88.3 173.0 139.1
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